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Note: L. AII questions are compulsory.

2. Figures to right indicate full marks.

Ql. (A) select the appropriate answer and rewrite the roilori;ind1

1. A lower Gini index implies
a) More equal distribution of income b)
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Q.2 (A) Explain the causes of income inequaiity. .-' . (08)

(B) Discuss the reasons for poor implementation of land rcfbrlns; , 
''' .' (07)

(D) What are the effects of urbanization? '' ,. .' (07)

-. .r ,,1,

Q.3 (A) Highlight the rnle of public sector in Intlia. (08)

(B) Analyze the pattern of industrializatlon in trndia. :. ,(07)
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